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o AW

brackets.

Q! CO-3 a. For the given dataset and a new instance = &(R%%éﬁ:égv

kS

; , Domestic),  [5,2]
find out whether it will be stolen or not using Wﬁv&ﬁayes classifier.
W . B

[ Instance Colour EQpigin Stolen
1 Red ngi [“Damestic | Yes
2 Red i, Pomestic No
3 Red - Domestic Yes
4 Yellow Domestic No
5 Yellow, & Imported Yes
6 Yellow, 4 %, Imported No
7 Yéllow's,  * Imported Yes
8 . Yollgw © Domestic No
9 Llwh REd Imported No
10 * % TRed Imported Yes

b. \ryhét i%s%psme similarity and how is it related to cosine distance?
ol & *

Give gebmetric intuition behind gradient descent algorithm? What  [5,2]
‘will happen if learning rate is too high or too low?

Q2 CO-4

_,.r'?What is vanishing gradient problem? Which activation function can
be used to solve it?

Consider the following 8 data points with (x, y) Iepresenting  [5,2]
locations. Use k-means clustering algorithm to group these into three

clusters. A1(2, 10), A2(2, 6), A3(11, 11), A4(6, 9), AS(6, 4), A6(1,

2), A7(5, 10), A8(4, 9). Use L1 norm to compute the distance. Initial

cluster centers are A1, A4 and A7,

b. What is a dendrogram? How can we measure the goodness of clusters
in hierarchical clustering algorithm?

[P.T.O]
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Q4 CO-5 a

Q5 CO-1

b. What will happen if lfaf_fﬁﬁig‘.r}e

b. \yhi’i

Consider the following diagram of a single artificial neuron. The node
has three inputs x = (x1, x2, x3) that receive only integers.
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Suppose that the weights corresponding te the three inpu}s%figg}‘é‘ fhé
values wl = 5, w2 = ~6 and w3 = 3 and the activatior%of th?'% jﬂt is
& F

sigmoid function. R
Calculate the output vaiue y of the unit for each aof tkffgggliéwmg input
patterns. %‘i@% hi\h
Pattern | P1 L aps [ °P5
x1 1 ok, | 8
x2 4 % % 1 9
x3 1 S E 4 10

Y. N RS i

learnitfizra is kept same while training a neural
network? How will yon so]ve the problem that arises because of it?
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. T . . . '
a. How will you %@pg;gg;e;{ a perceptron as a linear regression model?

Write dowgit ‘;_pﬁ?irﬁization problem to represent it and mention the
g s S
steps neeﬁggato olve it.

£ W
i%:-!tgﬂ difference between clustering and regression?
S 0 .,-3_!?;
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